
Table 0.1: Simulations results, 10,000 iterations, λZ = 1. 27 November 2020.

n=100 n=200 n=500 n=1000
model bias MAE RMSE Coverage rate Quantile .95 bias MAE RMSE Coverage rate Quantile .95 bias MAE RMSE Coverage rate Quantile .95 bias MAE RMSE Coverage rate Quantile .95

λX=0.2, αY =6 – b2 + d2=0.97
standard -4.196 4.196 0.257 0.0 -37.17 -4.103 4.103 0.255 0.0 -51.427 -3.982 3.982 0.245 0.0 -79.039 -3.899 3.899 0.225 0.0 -109.923
smoothed -4.22 4.22 0.245 0.092 -37.664 -4.126 4.126 0.243 0.174 -52.094 -4.005 4.005 0.234 0.313 -79.958 -3.921 3.921 0.215 0.421 -111.301

λX=0.2, αY =7 – b2 + d2=0.94
standard -1.86 1.86 0.192 0.001 -15.129 -1.785 1.785 0.185 0.0 -20.459 -1.697 1.697 0.174 0.0 -30.86 -1.631 1.631 0.165 0.0 -41.959
smoothed -1.878 1.878 0.183 0.095 -15.483 -1.803 1.803 0.176 0.169 -20.958 -1.714 1.714 0.167 0.296 -31.535 -1.647 1.647 0.158 0.411 -43.036

λX=0.2, αY =10 – b2 + d2=0.9
standard -0.596 0.597 0.108 0.004 -3.995 -0.558 0.558 0.099 0.003 -5.369 -0.507 0.508 0.09 0.002 -7.736 -0.473 0.474 0.085 0.002 -10.086
smoothed -0.607 0.607 0.103 0.09 -4.201 -0.568 0.568 0.095 0.15 -5.612 -0.517 0.517 0.087 0.261 -8.082 -0.482 0.482 0.081 0.352 -10.594

λX=0.3, αY =4 – b2 + d2=0.95
standard -3.827 3.828 0.453 0.002 -30.235 -3.69 3.691 0.442 0.002 -40.895 -3.541 3.543 0.405 0.001 -63.854 -3.435 3.435 0.34 0.0 -88.338
smoothed -3.875 3.876 0.423 0.164 -31.148 -3.738 3.739 0.413 0.268 -42.362 -3.586 3.588 0.381 0.45 -66.113 -3.477 3.477 0.321 0.588 -90.861

λX=0.3, αY =6 – b2 + d2=0.87
standard -0.622 0.627 0.186 0.036 -2.866 -0.569 0.574 0.169 0.028 -3.743 -0.504 0.508 0.15 0.025 -4.973 -0.463 0.465 0.126 0.016 -7.3
smoothed -0.644 0.647 0.175 0.167 -3.249 -0.589 0.593 0.159 0.249 -4.26 -0.522 0.525 0.141 0.381 -5.809 -0.48 0.481 0.119 0.497 -8.217

λX=0.3, αY =7 – b2 + d2=0.84
standard -0.402 0.407 0.137 0.055 -1.488 -0.362 0.367 0.129 0.048 -1.925 -0.313 0.318 0.109 0.038 -2.636 -0.282 0.284 0.094 0.035 -3.369
smoothed -0.419 0.422 0.13 0.17 -1.785 -0.377 0.381 0.122 0.248 -2.307 -0.327 0.33 0.103 0.368 -3.198 -0.294 0.296 0.089 0.468 -4.091

λX=0.3, αY =10 – b2 + d2=0.8
standard -0.18 0.184 0.076 0.109 -0.377 -0.156 0.16 0.068 0.095 -0.457 -0.13 0.133 0.057 0.091 -0.589 -0.113 0.116 0.049 0.083 -0.677
smoothed -0.19 0.192 0.072 0.201 -0.532 -0.165 0.168 0.065 0.256 -0.68 -0.137 0.139 0.054 0.351 -0.845 -0.12 0.122 0.046 0.433 -1.032

λX=0.5, αY =3 – b2 + d2=0.83
standard -0.791 0.876 0.63 0.168 0.713 -0.708 0.781 0.538 0.156 0.292 -0.616 0.665 0.369 0.131 0.401 -0.567 0.593 0.284 0.11 -2.339
smoothed -0.853 0.918 0.561 0.32 -0.742 -0.766 0.82 0.473 0.436 -1.462 -0.665 0.701 0.343 0.605 -1.96 -0.608 0.627 0.267 0.741 -4.499

λX=0.5, αY =4 – b2 + d2=0.75
standard -0.26 0.311 0.256 0.344 1.521 -0.219 0.264 0.212 0.34 2.001 -0.174 0.207 0.158 0.332 2.482 -0.154 0.176 0.124 0.305 2.177
smoothed -0.291 0.33 0.237 0.436 0.861 -0.247 0.28 0.197 0.505 1.207 -0.197 0.221 0.147 0.636 1.578 -0.173 0.188 0.116 0.711 1.091

λX=0.5, αY =6 – b2 + d2=0.67
standard -0.087 0.117 0.105 0.504 1.051 -0.071 0.095 0.086 0.513 1.161 -0.05 0.07 0.066 0.538 1.519 -0.041 0.056 0.051 0.534 1.62
smoothed -0.102 0.124 0.098 0.554 0.814 -0.083 0.101 0.081 0.595 0.852 -0.059 0.074 0.063 0.682 1.14 -0.049 0.059 0.048 0.741 1.177

λX=0.5, αY =7 – b2 + d2=0.64
standard -0.061 0.087 0.082 0.544 0.91 -0.049 0.069 0.065 0.571 0.98 -0.035 0.05 0.048 0.588 1.116 -0.028 0.04 0.038 0.591 1.224
smoothed -0.073 0.092 0.077 0.588 0.695 -0.059 0.073 0.061 0.635 0.743 -0.043 0.053 0.045 0.705 0.85 -0.034 0.042 0.036 0.758 0.95

λX=0.5, αY =10 – b2 + d2=0.6
standard -0.033 0.048 0.047 0.614 0.511 -0.024 0.037 0.037 0.651 0.601 -0.017 0.026 0.026 0.672 0.641 -0.013 0.02 0.021 0.674 0.705
smoothed -0.039 0.051 0.044 0.642 0.398 -0.03 0.039 0.035 0.698 0.476 -0.021 0.028 0.025 0.752 0.502 -0.016 0.022 0.02 0.781 0.561

λX=0.8, αY =1.5 – b2 + d2=0.87
standard -1.378 3.364 44.961 0.253 16.805 -1.717 2.603 4.237 0.248 20.075 -1.614 2.255 2.902 0.22 23.537 -1.581 2.046 4.145 0.189 15.366
smoothed -1.78 3.3 34.889 0.373 9.177 -1.987 2.653 3.697 0.459 9.703 -1.826 2.328 2.592 0.625 9.406 -1.741 2.136 4.076 0.75 2.921

λX=0.8, αY =2 – b2 + d2=0.7
standard -0.216 0.577 0.982 0.587 9.491 -0.174 0.476 0.758 0.592 11.438 -0.149 0.37 1.065 0.585 13.011 -0.139 0.286 0.393 0.587 12.822
smoothed -0.307 0.581 0.882 0.623 7.03 -0.254 0.475 0.647 0.676 8.556 -0.207 0.377 0.972 0.752 9.762 -0.184 0.293 0.361 0.827 9.831

λX=0.8, αY =3 – b2 + d2=0.53



standard -0.042 0.161 0.214 0.774 3.233 -0.031 0.126 0.171 0.785 3.637 -0.021 0.087 0.112 0.799 4.026 -0.015 0.066 0.086 0.817 4.099
smoothed -0.07 0.16 0.195 0.784 2.642 -0.053 0.126 0.156 0.814 2.957 -0.036 0.087 0.104 0.859 3.284 -0.026 0.066 0.081 0.899 3.454

λX=0.8, αY =4 – b2 + d2=0.45
standard -0.019 0.088 0.117 0.824 1.847 -0.013 0.066 0.085 0.841 1.954 -0.008 0.045 0.057 0.857 2.056 -0.005 0.033 0.042 0.87 2.112
smoothed -0.034 0.087 0.108 0.831 1.54 -0.024 0.066 0.08 0.864 1.655 -0.016 0.045 0.054 0.891 1.755 -0.011 0.033 0.04 0.92 1.826

λX=0.8, αY =6 – b2 + d2=0.37
standard -0.008 0.044 0.056 0.858 0.934 -0.005 0.033 0.042 0.876 0.949 -0.003 0.021 0.027 0.898 0.968 -0.002 0.016 0.02 0.9 1.025
smoothed -0.015 0.044 0.053 0.867 0.816 -0.01 0.033 0.04 0.888 0.825 -0.006 0.021 0.026 0.92 0.857 -0.004 0.016 0.019 0.933 0.92

λX=0.8, αY =7 – b2 + d2=0.34
standard -0.006 0.035 0.045 0.864 0.731 -0.004 0.026 0.033 0.879 0.753 -0.002 0.017 0.021 0.902 0.794 -0.002 0.012 0.015 0.907 0.802
smoothed -0.011 0.035 0.042 0.871 0.632 -0.008 0.026 0.031 0.892 0.657 -0.005 0.017 0.021 0.922 0.712 -0.003 0.012 0.015 0.936 0.727

λX=0.8, αY =10 – b2 + d2=0.3
standard -0.003 0.022 0.028 0.883 0.456 -0.002 0.016 0.02 0.899 0.474 -0.001 0.01 0.013 0.911 0.484 -0.001 0.007 0.009 0.92 0.483
smoothed -0.006 0.022 0.026 0.887 0.395 -0.004 0.016 0.019 0.907 0.415 -0.002 0.01 0.013 0.927 0.435 -0.001 0.007 0.009 0.939 0.444

λX=0.9, αY =1.5 – b2 + d2=0.77
standard -0.449 1.337 2.763 0.508 20.679 -0.269 1.249 4.585 0.514 26.627 -0.302 0.927 2.741 0.522 32.456 -0.305 0.774 2.375 0.5 32.546
smoothed -0.654 1.317 2.47 0.543 14.991 -0.468 1.215 3.914 0.595 19.333 -0.442 0.925 2.606 0.697 23.453 -0.415 0.785 2.161 0.772 23.741

λX=0.9, αY =2 – b2 + d2=0.6
standard -0.069 0.388 0.679 0.724 8.278 -0.047 0.308 0.606 0.743 9.592 -0.035 0.217 0.365 0.766 10.319 -0.032 0.165 0.343 0.774 10.706
smoothed -0.136 0.379 0.609 0.731 6.536 -0.102 0.3 0.539 0.774 7.563 -0.074 0.212 0.321 0.83 8.267 -0.059 0.164 0.333 0.869 8.762

λX=0.9, αY =3 – b2 + d2=0.43
standard -0.012 0.127 0.194 0.837 2.861 -0.008 0.095 0.129 0.853 3.044 -0.007 0.064 0.084 0.871 3.086 -0.004 0.046 0.06 0.883 3.196
smoothed -0.034 0.123 0.181 0.843 2.35 -0.024 0.093 0.12 0.87 2.569 -0.017 0.063 0.079 0.897 2.651 -0.011 0.045 0.057 0.925 2.781

λX=0.9, αY =4 – b2 + d2=0.35
standard -0.008 0.071 0.095 0.867 1.637 -0.004 0.053 0.069 0.882 1.673 -0.002 0.034 0.044 0.907 1.701 -0.002 0.025 0.031 0.914 1.694
smoothed -0.019 0.07 0.088 0.87 1.368 -0.012 0.052 0.066 0.891 1.443 -0.007 0.034 0.042 0.928 1.506 -0.005 0.024 0.03 0.942 1.526

λX=0.9, αY =6 – b2 + d2=0.27
standard -0.003 0.037 0.048 0.892 0.826 -0.001 0.027 0.035 0.909 0.84 -0.001 0.018 0.023 0.914 0.844 -0.0 0.013 0.016 0.926 0.843
smoothed -0.009 0.037 0.045 0.897 0.713 -0.005 0.026 0.033 0.918 0.742 -0.003 0.018 0.022 0.929 0.765 -0.002 0.012 0.016 0.947 0.775

λX=0.9, αY =7 – b2 + d2=0.24
standard -0.001 0.03 0.039 0.904 0.673 -0.001 0.022 0.028 0.906 0.683 -0.001 0.014 0.018 0.924 0.672 -0.0 0.01 0.013 0.93 0.682
smoothed -0.006 0.029 0.037 0.908 0.598 -0.004 0.022 0.027 0.913 0.616 -0.002 0.014 0.017 0.936 0.614 -0.001 0.01 0.012 0.947 0.634

λX=0.9, αY =10 – b2 + d2=0.2
standard -0.001 0.019 0.024 0.906 0.41 -0.001 0.013 0.017 0.92 0.409 -0.0 0.009 0.011 0.927 0.416 -0.0 0.006 0.008 0.93 0.421
smoothed -0.004 0.018 0.023 0.911 0.365 -0.003 0.013 0.016 0.926 0.37 -0.001 0.009 0.011 0.937 0.386 -0.001 0.006 0.008 0.943 0.397


